#5A SA of Comp Objects Day 9 November 22, 2018

1. Finish the Practice Test
« Cake question

2. Review the solution to the two triangular
prisms and a cyclinder

3. Quiz

4. Work on chapter review questions

Two IDENTICAL EQUILATERAL triangular prisms are joined by a cylinder. The
equilateral triangles have a side length of 12 cm, and the rectangular sides have a

length of 8 cm. The cylinder has and a length of 20 cm. Determine

the surface area of the composite object to the nearest square centimetre.

NOTE: You will have to use the Pythagorean Theorem to determine the height of
the equilateral triangles.
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Quiz....

PREPARATION FOR UNIT 1 TEST
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Read

#4,5, 6,and 8

#11, 12,13, 14, 15, and 16
#17 and #19

#1 to #6
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